NL 3000BL(M)

Installation
Packet



1 2 3 4 S 6 7 8 9 10 1 12 13 14 15 16

|
00V 100000€EN [R5

In_ 1 uu
“ |

N ﬂ ; ; C]
mw. 1 {1 0 L 5 0 L (N ' 10 7]
N— |_
© N
B _ aufis
- . A \ . =
2 . o ] = . . I ]

T

3,943(184.6)

5,048(198.7)
400(15.75) 1,210(DOOR OPEN)
200,350 915 1,050

[—E— o

e SIMARL,

° . DU e b ,,

\.5/ e
~ = [N I =
m s S 1 [ L ! -
o = Ny 10| e I
5 ZZ_aaD 7 1 1°l =
Ve) N—
o 0 i B :
) s § Q3 Q — (o)
= On/_u 8.. A = |
: ~— L s “| N
— % " ] N
== » , == | EEAT S
=== < ® ~
X7,
ioke) - S o - H
- o ol ol o
d ] o= = @
X j j j
1,648
’ J.W SHIN mmzmnmh,%nhm_m%zm%‘nm HEAT TREATMENT
APP12018.12.200 g5~ 60 SMTK
6~ 30%0.2 UNIT ASS’Y
REV'D 30~120£0.5 NL3oooL  LAY-OUT
"< NL3000L S o mATERTAL T |NarE
315~1000 £ 0.8 |
< ce'D o008 i GENERAL ASS'Y
o
D DES' DJ.S PARK [M6E2R TN PLATING Seare
MARK REVISION DATE | REv' D| CHE DaTe PO1812.20 [CHAME,” & TONNER 1/12 Z,w o,o 0 ,o 0 ,._ ,> 010 \
1 2 3 4 5 6 7 8 S 10 | 11 | 12 13 | 14 | 15 | 16

SMTK_A1




1 2 3 4 S 6 7 8 9 10 1 12 13 14 15 16

,
00V.Z00000EN

w3

Styrofoam Foundation Outline JACK BOLT(9EA)
307,5(12.11) 3750(147.64) —~
9]
100(3..94) 3550(139.76) 100(3.94) o)
o
% ¥ 800(31.5) o
L = 500(19.69) 100 ,200(7.87) {394,
S 3.94
\ e d
- Bee
MU\ o
S :
T N — TR
pivg Fire) ,
~ AV g L
: i yINGY 7 < Bo-(
: G 5 __ Mw@
© %)
_ N/ NL3000L A
3 I 8
N~y il ~ o\ )
- =3 8
3 8 8 § 3
(D \A \k O\ / — m m o m
D 7 bl © ~ ~ L 2
. SR s NG & G 2 0=
S ] g
o D) 3
20798 W ] g
NS X
i & .
&} RS
= ISt
S .
A S v
- L
ﬂ, Concrete
N
~ 240(9.45) 510(20.08) 55| 255(10.04) |205(8.07) 775(30.51) 910(35.83) 600(23.62) 3 Gravel
0y (2.17) o
o
Operator's side 2
?200(7.53)
Note1) This drawing shows the standard foundation.
Modify the concrete thickness according 100(3.94) 100(3.94) NUT(M14)
ground condition. o% 2J2IE FYF - WASHER(M14) JACK BOLT(NS010108 : 9EA)
HREFEFEE | o]
Bef he fi . letely d N = LOCK NUT(N3010109 : 9EA) BASE BOLT(M14X500L)
efore the first oo:oﬂ.mﬁm is ooBo.m8< ry, - - BASE PLATE(N3010703 - 8EA)
chamfer the area facing the outside of the 08 © (N3070704 : 1EA)
machine by approximately 100 mm. o -t s 7 N
g g L S
ol 213 ©
Concrete strength (28 days after placing s ~n L)
concrete) should be 20.6 Mpa(2986.2 psi) ° L@ @
or more. 28 7
(S=2/1)
Note2) Because 100 mm(3.94 inch) of styrofoam must 6200(7.88
Adhere to the inside mczm.om of Q:o.j, dig the $240(9.45)
foundation 100 mm(3.94 inch) outside of the
outline of the foundation. Foundation Bolt Detail
. . mmzmﬁmb,%mh_m_ﬂm_ﬂﬁnm HEAT TREATMENT
Note3) Unit : mm(inch) e 05~ 6201 SMTK
) 6~ 30+0.2 UNIT ASS’Y LAY=0OUT
| e w300,
" MATERIAL QTY
¢ NL300OL te 215100008 1o | FOUNDATION ASS'Y
o . UNLESS OTHERWISE[PLATING SCALE
D DES" D) SPECIFICATION
MARK REVISION DATE | REv' D| CHE DATE s “Ras 1/8 z,mio,,oio ,o 70 N ,>7o T \

1 2 3 4 S 6 7 8 9 10 1 12 13 14 15 16 SHTK_AL




AMPS @

MACHINE MODEL| KVA 290V Coolant | Slideways Hyd. Unit Transmission Chuck Qil for Air
NL150/200/250 31 82 48 .79 gal 5.3 gal n/a .2 oz daily N/A
NL1500(M) 31 82 48 .79 gal 5.3 gal n/a .2 oz daily .6 0z
NL2000(M) 31 82 48 .79 gal 5.3 gal n/a .2 oz daily .6 0z
NL2000A/B/S/Y 40 105 60 .79 gal 5.3 gal n/a .2 0z daily 6oz
NL2500SY 50 131 60 .79 gal 5.3 gal n/a .2 oz daily .6 0z
NL2500S 40 105 48 .79 gal 5.3 gal 0.75 .2 oz daily .6 0z
NL2500(M) 40 105 53 .79 gal 5.3 gal 0.75 .2 oz daily .6 0z
NL3000(M) 40 105 63 .79 gal 5.3 gal 0.75 .2 0z daily N/A
NL4000(M) 55 144 63 .79 gal 6.4 gal 0.75 .2 oz daily N/A
NL5000(M) 55 144 63 .79 gal 6.4 gal 0.75 .2 0z daily N/A
NL5000L(M) 65 170 130 .79 gal 6.4 gal 0.75 .2 oz daily N/A
NL6000(M) 65 170 105 .79 gal 15 gal 0.75 .2 0z daily N/A
NL600OL(M) 65 170 150 .79 gal 15 gal 0.75 .2 oz daily N/A
NL6000XL(M) 65 170 180 .79 gal 15 gal 0.75 .2 oz daily N/A
NL7000L(M) 65 170 150 .79 gal 15 gal 2 gal .2 oz daily N/A
NL7000XL(M) 65 170 180 .79 gal 15 gal 2 gal .2 0z daily N/A
Shell O|I'T68 Mobil DTE Mobil Oil Light .
Mobil 24 1SO VG 32 SW10 DTE Light
Vactra#2
. . . . check
check daily | check daily check daily grease daily daily

Air requirements: 80-100 psi, 5-10 CFM
Coolant only fluid required at install
Voltage : 220V +/- 10%




Conestoga Trailers arranged by Walsh Logistics required for all machine shipments

Model

Description

ESTIMATED PACKING

(Size - FEET) (Size - LBS)
NL2000(M) MACHINE 13x7.5x7.5 10,500
NL2500(M) MACHINE 14.5x7.5x7 13,900
NL2500(M) CHIP CONVEYOR 12.5x3x5 850
NL3000(M) MACHINE 15.5x7.5x7 16,500
NL3000(M) CHIP CONVEYOR 12.5x3x5 870
NL4000(M) MACHINE 16x7.5x8 25,000
NL4000(M) CHIP CONVEYOR 14x3.1x5 1,925
NL5000(M) MACHINE 16x7.5x8 25,500
NL5000(M) CHIP CONVEYOR 14x3.1x5 1,925
NL5000L(M) MACHINE 20x7.5x8 32,000
NL5000L(M) CHIP CONVEYOR 18x3.1x5 2,500
NL6000(M) MACHINE 18.7x7.5x8.4 35,250
NL6000(M) CHIP CONVEYOR 15.9x7.5x5.75 2,350
NL6000L(M) MACHINE
NL7000L(M) MACHINE
NL7000XL(M) MACHINE




1 2 3 4 S 6 7 8 9 10 1 12 13 | 14 | 15 | 16

!
00900 1060EN _mm_ NO.| DuG NO NAME MAT L [ TY]  REMARK
1| N2590805A00 | PROXIMITY SWITCH 2 |FL7M-3J6HD-C
2|N3090802A00 |HYD. CYLINDER 1 |sb21s510CcU+21CS
3(S0221212 SOCKET HEAD BOLT 6 M12X120
4
5
n 6[N3090102B00 | DRAW PIPE STKM13C | 1
7 [N3090801A00 |HYD. CHUCK 1 |MH12A11(M112xP2.0)
B12B1
CYLINDER SPECIFICATION CHUCK SPECIFICATION 8|N3090803A00 | HARD JAW 1S
CYLINDER INSIDE DIAMETER | 215 mm PLUNGER STOKE 23 mm 9|M3090804A00 | SOFT JAW 3 |HB12A1
PISTON STROKE 35 mm JAW STOKE (=) 10.6 mm 10|50210825 SOCKET HEAD BOLT 4 |M8X25
PISTON THRUST [ pusH | 105 kN PLUNGER 3l2%2 5608kaf (55kN) 1152530800 | SPRING WASHER 4 |M8
o otred
— S 4.0MPa PULT o1 Z/CH mrera 14686kaf (144kN) 12|N3090103A00 | BRACKET SS400 1
(40.8 kgf/cm ) (2330m) 0 B m~ 3000 rom. 13|N3090104A00 | CHUCK COVER SCP1 1
Hno0e 4.5Mpa e : 14|50210612 3 |Mex12
ERUES (45 bar) WEIGHT (SOFT JAW £) 62 kaf SHB
EnE=FSES 3600 rom G.D? (SOFT JAW £3%) 0.848 kgf-m?
WEGHT 40kgf 2D 5| ME ot 4840 kof
Moment of inertia 0.28kg m? AFE CYLINDER SD-21510
_ DRAIN & 4.5 liter/mi 0 £3 | 26 kg/cm’
ISO.VG.32. 50° 3.0MPa - ter/min @@ @@
812(Draw Pipe Lenght)
14 153.5 680.94
3p4.5 s e
il 1]
VWW VWW VWW WY VWW <<<<<<<<<<<<<<<<<<<< ll_ / \ m
—1 A
| 4 -
| K—. [ — , \mﬁmmv \,,w N
=S 7a'4 ! =
Q ._ I|E4 | MH2112A11 (M112XP2.0) =
U |
(M112XP2.0) h , \ )
N ©
F — lll ] \H_
(o] o
— ® § M o v & ) 2
< S QL == = & S A= -
s s
G
: _ mw H -
] = T
- | -
H =
Il
ni D ————_— =
, 1530
L i i) 16 110
n ! ! MAX 35
W i Min. 0 Max. 30 23]| 5
Min. 7
105.5 163 300.94 380 70 126
I |
J\/\ N
J
| NOTE e@
1. NL3000B/NL3000BM 12" HOLLOW CHUCK A2kl
2. CHUCK & CYLINDER SPEC.(&tx2])
K 2.1 HYD. CHUCK : MH212+AP15A11T12(M112XP2.0)
. ’ J.W SHIN mmzmnmh,%nhm?mﬁmvznm HEAT TREATMENT
2.2 HYD. CYLINDER : SD21510CU+SD21CS(M112XP2.0) FPPTl20181220) g5 601 SMTK
= 6~ 30%0.2 4
3. N_nlnu.ml.ﬂ_ﬂ_.mwnw_ o11 m, M.@OO_\UB >_vnnvv_n0ﬂ_ . REV' D 30~ GGMS ﬂ_zmMomwmm< CHUCKING
— 120~ 315+ 0.5
M NL3000B . MATERIAL QTY NAME
w NL3000BM EHE" D Aw%%wmwwm 1 HOLLOW CHUCKING ASS'Y
o
B | CYLINDER ADAPTOR AtH| 09214 SUW D DES’ D[ J.S PARK | Seec P aast o [PLATING SCALE | o g |
MARK REVISION DATE | REV'D| CHE T pATE |2018.12.20CHAT, " & LEANER 11.75 z,wwo,wwo, ,o,_wwo 0 \

T T T T T T
1 2 3 4 S 6 7 8 9 10 1 12 13 14 15 16 SHTK A1




	Air power oil.pdf
	Mills

	Copy of Lathe  Mill Shipping Dimensions.pdf
	Mills

	Air power oil.pdf
	Mills

	Air power oil.pdf
	Lathes

	Copy of Lathe  Mill Shipping Dimensions.pdf
	Lathes

	Dimensions.pdf
	Lathes

	NL Series Shipping Dimensions.pdf
	Lathes

	Air power oil.pdf
	Lathes

	NL Series Shipping Dimensions.pdf
	Lathes

	Air power oil.pdf
	Lathes

	NL Series Shipping Dimensions.pdf
	Lathes




